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LESSON 9

UNIT 8
Do Now: Solve for the x intercepts by completing the square, in simplest radical form: x*+6x—-3=0

AIM: SOLVING QUADRATIC EQUATIONS USING THE QUADRATIC FORMULA (Day 1)

1. Solve for the x intercepts by using the quadratic formula, in simplest radical form: x*+6x—3=0
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Steps for Solving Quadratics Equations Using the
Quadratic Formula Quadratic Formula:

1. Put quadratic equation into standard form.

_b i ,\/bZ _ 4‘aC 2. Identify the a, b & c values.

b o — 3. Write down the quadratic formula and substitute a, b,

2 a and c values into the formula.
4. Evaluate the formula and express answer according to

directions. (simplest radical form or decimals)

2. To the nearest tenth, solve for the roots: x> =5x+4
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http://upload.wikimedia.org/wikipedia/commons/7/75/Quadratic_Formula.j

3. To the nearest hundredth, solve for the x-intercepts: 2x% +7x=3




4. Write the solution set for the equation in simplest radical form: 3x*+2=- 6x




5. To the nearest hundredth, write the solution set for the equation: 9x* +4x =16




